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Instructions : (1) All questions in Section — I carry equal marks.
(2) Attempt any two questions in Section — .
(3) Question No. 5 in Section — II is compulsory.

SECTION -1

1.  Vivansh Ltd. is considering to invest I 12,00,000 in a capital project. The expected

annual income after depreciation but before tax is as follows : 20
Year €4
1 6,00,000
2 4,00,000
3 4,00,000
4 4,00,000
5 3,00,000

Depreciation may be taken at 20% on original cost and taxation at 50% of net profit.
You are required to evaluate the project according to each of the following methods :
(i) Pay-back Period Method

(i1)) Rate of Return on Average Investment.

(ii1)) Net Present Value Method.

(iv) Profitability Index Method.

Note : Present value of % 1 at 10% discount rate is as under :

Year 1 2 3 4 5

Present Value | 0.909 | 0.826 | 0.751 |0.683 | 0.621
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2. (A)

(B)
3. (A)

(B)

The total investment in a project is estimated at ¥ 2,25,000. Its forecast cash flow
and certainty equivalent co-efficients are as follows : 10

Year Cash flow ) Certainty Equivalent
Co-efficient

1 1,50,000 0.90
2 1,00,000 0.70
3 1,00,000 0.50
4 1,50,000 0.30

The risk free discount rate is 10%. Determine on the basis of Net Present Value
whether the project should be accepted. The present valve of ¥ 1 at 10% discount
rate are as follows :

Year Present Value (of X 1)

1 0.909
2 0.826
3 0.751
4 0.683
Write a note on decision tree approach. 10

The operating information of three divisions of Misha Ltd. for the year 2019 are

as follows : 10
Particulars Division A () | Division B ) | Division C )
Sales 5,00,000 25,00,000 40,00,000
Operating Profit 25,000 1,50,000 2,80,000
Investment 4,00,000 20,00,000 28,00,000

(1)  Using operating profit ratio, which division is most profitable ?
(i1))  Using return on investment, which division is most profitable ?

Explain various centres of Responsibility Accounting. 10

4.  Niyati Company fixes the inter-divisional transfer price for its product on the basis of
cost plus a return on investment in the division. The budget for division ‘A’ for the year

2020-21 is as under : 20
Particulars (4]
Fixed Assets 7,00,000
Current Assets (Other than debtors) 4,00,000
Debtors 1,00,000
Annual Fixed Cost of the Division ‘A’ | 7,00,000
Variable cost per unit of product 15

Budgeted volume 2,00,000 units per year.
Desired Rate of Return on Investment 25%
Determine the transfer price for Division-‘A’.

If the volume (in units) can be increased by 25%, what will be the impact on transfer
price ?
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SECTION - 11

Choose the correct option : (Any Five)

(1)  Which of the following indicate cash flow ?

(a) Profit after taxes (b)  Profit after tax + Depreciation
(c) Profit before tax — Depreciation  (d) None of these
(2) Internal rate of return is
(a) Cut-off rate (b) Hurdle rate
(c) Interest (d) None of these
(3) In which method discounted factor is highly necessary ?
(a) Payback period (b) Net present value
(c) Per share earning (d) None of these
(4) Decision Tree Approach is a technique which deals with risk management.
(a) True (b) False
(5) Risk adjusted discount rate is higher than risk-free discount rate.
(a) True (b) False
(6) Sensitivity analysis provides a single estimate of future return from project.
(a) True (b) False
(7) The basic purpose of Responsibility Accounting system is
(a) Budgeting (b)  Authority
(c) Variance Analysis (d) None of these
(8) A company’s ROI would generally increase when
(a) Assets increase (b) Cost increase
(c) Cost decrease (d) None of these
(9) Responsibility Accounting is a part of
(a) External Reporting System (b) Corporate Reporting System

(c) Internal Reporting System
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(10) Under of pricing, two separate transfer pricing methods are used.
(a) Market Price Method (b) Total Cost Method
(c) Dual Pricing Method (d) None of these

(11) Transfer Pricing is concerned with
(a) Inter-organisational transfer (b) Intra-division of an organisation

(c) Both of the above (d) None of these

(12) Division, under transfer pricing system is treated as
(a) Cost centre (b) Profit centre

(¢) Investment centre (d) None of these
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